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JIN:W7181wl7

04/10/2018

Base: 1,024 Total GenderXAge SEG 2016 Holyrood Constituency Vote 2017 Westminster Vote
Male x ; Male x i Male x ; Female ; Female ; Female | ABC1 C2DE | Conserv: Labour : Liberal SNP Did not : Can't I'was |Conserv: Labour : Liberal SNP Did not ; Can't I was
16-34 § 35-54 55+ X 16-34 i x 35-54 ¢ x 55 ative Democr vote irememb not ative Democr vote irememb not
at ar alinihla at ar alinihla
Total 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
(1024)| (134)} (156) (173)! (184)i (174) (203)| (569): (455)| (173) (179) (50); (362) (85); (111) (49)| (231); (206) (44); (356) (87) (50) (24)
Q3. Who would you vote for if |Base: Likely (8-10) 852 119 154 153 106 134 187 502 350 176 174 54 313 29 67 28 229 207 57 295 26 27 7
a UK Parliamentary Election  |voters at Q2 (851)| (106): (143): (155): (128): (133): (186)| (498): (353)) (167): (160) (45):  (336) (29) (69) (31)| (215): (182) (43); (329) (25) (26) (8)
took place tomorrow? SNP 281 54 49 42 42 52 42 144 137 1 10 4 285] 12 9 10 1 13 3 255 7 1 1
33%)|  45%:  32%: 27%;  40%: 39%: 2200 290%i  390p| <10 6% 7%;...75%;: 40%: 13%: 34%)| <1% 6% 5%; . 86%: 28% 3%
Conservative 197 17 34 43 8 25 69 131 66 145 18 6 9 7 7 5 180 7 1 4 3 2
23% 15% 22% 28% 8% 19% 37% 26% 19% 82% 10% 11% 3% 23% 11% 18% 79% 3% 1% 1% 11% 9%
Labour 175 19 42 40 27 22 24 95 80 10 109 4 26 3 16 6 9 138 5 14 5 2
21% 16% 27% 26% 25% 16% 13% 19% 23% 6% 63% 8% 8% 12% 24% 22% 4% 67% 8% 5% 18% 9%
Liberal Democrat 47 6 8 17 5 2 8 43 4 4 8 26 4 2 2 0 5 8 31 1 0 1
5% 5% 5% 11% 5% 2% 4% 9% 1% 2% 4% 48% 1% 8% 4% 1] 2% 4% 53% <1% [+] 4%
UKIP 18 5] 4 2 1 S| S| 13 6 4 1 1 5 1 2 2 10 4 1 0 2 0 1
2% 4% 2% 2% 1% 2% 2% 3% 2% 3% <1% 2% 1% 4% 2% 8% 4% 2% 1% o 9% o 9%
Green Party 16 4 2 0 6 2 3 8 8 0 4 2 4 1 1 0 0 3 4 5 0 1 1
2% 3% <1% V] 6% 2% 1% 2% 2% 1] 2% 3% 1% 2% 2% 1] 1] 1% 8% 2% [+] 5% 14%
Other 1 0 1 0 0 0 0 0 1 1 0 0 0 0 0 0 1 0 0 0 0 0 0
<1% o <1% o 1] o 1] o <1% <1% 1] 1] 1] 1] 1] 1] <1% o (1] o (1] o (1]
Would not vote 2 1 0 1 0 0 0 1 1 0 0 0 1 0 0 0 0 0 0 0 2 0 0
<1% <1% <1% <1% 1] V] 1] <1% <1% 1] 1] 1] <1% 1] 1] 1] 1] 1] 1] 1] 9% 1] [+]
Don’t Know/ Not sure 111 10 13 8 16 27 38 66 45 11 28] 11 29 E] 29 4 24/ 35 13 15 5 19 0
13% 8% 8% 5% 15% 0% 0% 13% 13% 6% 13% 20% 9% 12% 42% 4% 10% 17% 23% 5% 20% 70% (1]
Prefer not to say 3 2 0 0 1 0 0 1 2 0 1 0 0 0 1 1 0 0 0 1 1 0 1
<1% 2% o o <1% o o <1% <1% o <1% o o o 2% 5% o o o <1% 5% o 17%
Q3. Who would you vote for if |Base: Likely voters 735 105 141 144 89 107 149 434 301 165 151 43 283 26 38 23 206 172 44 279 17 8 6
a UK Parliamentary Election at Q2, excluding (742) (94): (131): (146): (110): (108): (153)| (432): (310)| (157): (138) (36): (307) (26) (41) (26)| (194): (151) (33): (311) (17) (8) (7)
took place tomorrow? SNP 281 54 49 42 42 52 42 144 137 1 10 4 235 12 9 10 1 13 3 235 7 1 1
38%)| 51%: 35%: 29%: 47%: 49%: 28%)| 33%: 45%)| <1% 7% 8%: 83%;: 45%: 24%:  41%)|  <1% 7% 7%;. .. 91%:  42%:  11%
Conservative 197 17 34 43 8 25 69 131 66 145 18 6 9 7 7 5 180 7 1 4 3 2 0
7% 17% 24% 30% 9% 24% 6% 30% 22% 88% 12% 14% 3% 26% 20% 22% 88% 4% 2% 1% 17% 0% [
Labour 175 19 42 40 27 22 24 95 80 10 109 4 26 E] 16 6 9 138 5 14 5 2 2
24% 18% 30% 28% 30% 21% 16% 22% 27% 6% 73% 10% 9% 13% 42% 27% 4% 80% 10% 5% 27% 29% 34%
Liberal Democrat 47 6 8 17 5 2 8 43 4 4 8 26 4 2 2 0 5 8 31 1 0 1 1
6% 6% 6% 12% 6% 2% 5% 10% 1% 2% 5% 61% 2% 9% 6% o 2% 5% 9% <1% [ 3% 7%
UKIP 18 5 4 2 1 3 3 13 6 4 1 1 5 1 2 2 10 4 1 0 2 0 1
2% 5% 3% 2% 1% 2% 2% 3% 2% 3% <1% 3% 2% 5% 4% 10% 5% 2% 2% o 14% o 11%
Green Party 16 4 2 0 6 2 3 8 8 0 4 2 4 1 1 0 0 3 4 5 0 1 1
2% 4% 1% o 7% 2% 2% 2% 3% o 3% 4% 1% 2% 4% o o 1% 10% 2% [} 18% 17%
Other 1 0 1 0 0 0 0 0 1 1 0 0 0 0 0 0 1 0 0 0 0 0 0
<1% o <1% o o o o o <1% <1% o o o o o o <1% o o o o o o
Q6. How would you vote in Base: Likely (8-10) 922 129 157 161 123 162 190 539 383 179 181 56 323 49 87 36 240 217 59 300 44 38 18
response to the question: voters at Q5 (920)| (114): (145): (163): (149): (160): (189)| (531): (389) (170): (166) (47): (345) (48) (90) (39)( . (225): (191) (44): (336) (45) (38) (18)
Should Scotland be an Yes 377 89 64 45 68 61 51 186 191 4 46 12 248 24 26 15 8 67 6 252 20 13 10
independent country? 41% 69% 41% 28% 55% 37% 27% 35% 50% 2% 25% 21% 77% 48% 30% 42% 3% 31% 11% 84% 45% 34% 56%
No 480 34 83 102 44 93 124 320 160 170 116 41 55 23 52 16 227 122 49 32 20 22 6
52% 26% 53% 64% 36% 57% 65% 59% 42% 95% 64% 73% 17% 47% 60% 44% 94% 56% 83% 11% 45% 58% 31%
Don’t know 62 5] 10 13 11 9 16 e 29 5 19 3 20 2 8 4 6 27 4 16 3 3 2
7% 2% 6% 8% 9% 5% 8% 6% 8% 3% 11% 6% 6% 5% 9% 10% 2% 12% 6% 5% 7% 8% 13%
Would not vote 3 3 0 0 0 0 0 0 3 0 0 0 0 0 1 1 0 1 0 0 1 0 0
<1% 2% o o o o o o <1% o o o o o 1% 4% o <1% o o 3% o o




JIN:W7181wl7

04/10/2018

Base: 1,024 2014 Independence 2016 EU Referendum Country of Birth Do you live in (or within a few miles of) one of the following cities?
Referendum
I voted : I voted :Idid not| The UK i The UK i Did not [Scotland: England All Aberdee i Dundee iEdinburg: Glasgow :Invernes: Perth Stirling i None of
Yes No vote should § should vote others n h s the
remain | leave ahave
Total 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
(438); (490); (96)| (565); (354); (105)| (809): (143) (72) (91) (81) (204); (382) (35) (42) (50); (139)
Q3. Who would you vote for if |Base: Likely (8-10) 361 444 47 493 319 39 713 80 59 78 73 170 318 25 33 47 109
a UK Parliamentary Election  |voters at Q2 (382): (421) (48)| (494): (319) (38)) (676): (123) (52) (78) (70); (171): (316) (27) (35) (46): (108)
took place tomorrow? SNP 232 34 14 196 73 20 56 107 9 11 16, 33
64% 8% 31% 40% 23% 27% 33% 34% 37% 33% 34% 30%
Conservative 18 170 9 70 124 19 31 67 8 11 12 32
5% 38% 19% 14% 39% 26% 18% 21% 2% 35% 25%
Labour 59 103 12 117 a7 16 41 74 0 6 14 12
16% 23% 26% 24% 15% 23% 24% 23% 1] 17%, 30% 11%
Liberal Democrat 5 41 0 34 9 2 12 17 1 2 0 11
2% 9% V] 7% 3% 2% 7% 5% 4% 7% 1] 11%
UKIP 9 8 1 0 17 0 6 6 0 1 0 5
3% 2% 2% 1] 5% 1] 3% 2% <1% 2% (1] 4%
Green Party 5 10 1 14 2 3 2 7 1 0 0 0
1% 2% 3% 3% <1% 4% 1% 2% 5% 1] 1] <1%
Other 1 0 0 0 1 0 0 0 0 0 0 0 0 1 0
<1% 1] o 1] <1% 1] <1% 1] 1] 1] 1] 1] 1] 1] o 3% o
Would not vote 1 1 0 1 1 0 2 0 0 0 0 0 2 0 0 0 0
<1% <1% V] <1% <1% 1] <1% 1] 1] 1] 1] 1] <1% 1] 1] 1] 1]
Don’t Know/ Not sure 29 76 6 61 42 8 95 9 7 13 13 22 36 5 2 4 16
8% 17% 14% 12% 13% 20% 13% 11% 12% 7% 18% 13% 11% 22% 6% 8% 5%
Prefer not to say 1 0 2 1 1 1 2 0 1 1 0 0 2 0 0 0 0
<1% o 5% <1% <1% 3% <1% o 2% 2% o o <1% o o o o
Q3. Who would you vote for if |Base: Likely voters 331 366 38 430 274 31 613 71 51 64 60 148 278 19 31 43 93
a UK Parliamentary Election at Q2, excluding (351): (351) (40)| (434): (278) (30)| (586): (111) (45) (65) (58): (150): (278) (22) (33) (43) (93)
took place tomorrow? SNP 232 34 14 196 73 11 250 15 16 31 20 56 107 9 11 16 33
70% 9% 38% 46% 27% 37% 41% 21% 32% 48% 33% 38% 38% 47% 35% 37% 35%
Conservative 18 170 9 70 124 3 149 30 18 17 19 31 67 8 11 12 32
6% 46% 23% 16% 45% 10% 24% 43% 35% 27% 32% 21% 24% 41% 37% 27% 34%
Labour 59 103 12 117 a7 11 151 15 11 16 41 74 0 14 12
18%; 28%:  32%| 27%: 17%; 35%)| 25%: 22%: 16%| 17%:  28%; 28%:  27% 0. .18%: 33%: 13%
Liberal Democrat 5 41 0 34 9 4 36 5 5 1 2 12 17 1 2 0 11
2% 11% o 8% 3% 11% 6% 8% 10% 2% 3% 8% 6% 5% 7% [ 12%
UKIP 9 8 1 0 17 1 12 4 2 1 0 6 6 0 1 0 5
3% 2% 3% [*] 6% 4% 2% 6% 5% 2% [} 4% 2% <1% 2% [*] 5%
Green Party 5 10 1 14 2 1 14 1 1 2 3 2 7 1 0 0 0
2% 3% 4% 3% <1% 3% 2% 1% 3% 4% 5% 1% 3% 6% o [} <1%
Other 1 0 0 0 1 0 1 0 0 0 0 0 0 0 0 1 0
<1% o o o <1% o <1% o o o o o o o o 3% o
Q6. How would you vote in Base: Likely (8-10) 379 487 56 527 332 63 768 86 67 80 79 180 347 27 35 47 127
response to the question: voters at Q5 (402): (463) (55)]..(529): (332) (59)]..(728): (133) (59) (80) (76): (182): (341) (31) (37) (46): (127)
Should Scotland be an Yes 309 a7 22 252 94 32 326 21 30 34 27 76 155 10 16 18 41
independent country? 81% 10% 39% 48% 28% 50% 42% 25% 45% 43% 35% 42% 45% 38% 47% 39% 32%
No 44 411 25 243 212 24 388 61 31 42 46 94 163 16 14 24 81
12% 84% 46% 46% 64% 38% 51% 70% 45% 52% 59% 52% 47% 59% 40% 51% 64%
Don’t know 27 29 6 32 24 6 53 4 5 3 5 11 30 1 3 5 5
7% 6% 11% 6% 7% 10% 7%. 5% 8% 4% 6% 6% 9% 3% 9% 10% 4%
Would not vote 0 0 3 0 1 1 1 0 1 1 0 0 0 0 1 0 0
o o 5% o <1% 2% <1% o 2% 2% o o o o 4% o o




JIN:W7181wl7

04/10/2018

Base: 1,024 Total GenderXAge SEG 2016 Holyrood Constituency Vote 2017 Westminster Vote
Male x ; Male x ;| Male x ; Female | Female ; Female [ ABC1 C2DE | Conserv: Labour : Liberal SNP Did not : Can't Iwas |Conserv: Labour : Liberal SNP Did not ; Can't I was
16-34 § 35-54 55+ X 16-34 i x 35-54 ¢ x 55 ative Democr vote irememb not ative Democr vote irememb not
at or slinihla at ar slinihla
Total 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
Q6. How would you vote in Base: Likely voters 857 123 147 148 112 153 174 506 351 174 162 53 302 47 78 31 234 189 55 284 40 35 16
response to the question: at Q5, i (857)) (109): (136): (150): (136): (151): (175)| (498): (359)| (165): (149) (44); (324) (46) (80) (34)| (220): (165) (41); (318) (41) (35) (16)
Should Scotland be an Yes 377 89 64 45 68 61 51l 186 191 4 46 12 248 24 26 15 8 67 6 252 20 13 10
independent country? 4% 2% 43% 31% 61% 39% 29% 37% 54% 2% 28% 22% 82% 51% 33% 49% 3% 35% 12% 89% 50% 37% 65%
No 480 34 83 102 a4 93 124 320 160 170 116 41 55 23 52 16 227 122 49 32 20 22 6
6% 28% 57% 69% 39% 61% 71% 63% 46% 98% 72% 78% 18% 49% 67% 51% 97% 65% 88% 11% 50% 63% 35%
Q7b. Who would you vote for |Base: Likely (8-10) 868 124 149 157 110 145 183 512 356 177 177 54 318 27 73 31 229 207 57 298 26 32 14
with your constituency vote if |voters at Q7a (867)| (110): (139): (159): (132): (144): (183)| (507): (360)| (168): (163) (45): (341) (25) (76) (34)| (215): (183) (43): (333) (26) (31) (14)
a Scottish Parliamentary SNP 308 59 55 44 49 58 44 156 152 2 17 1 249 14 13 13 1 28 2 261 9 2 7
Election took place tomorrow? 36% 48% 37% 28% 44% 40% 24% 31% 43% 1% 10% 2% 78% 51% 17% 43% <1% 13% 3% 87% 33% 6% 48%
Conservative 201 18 34 a4 9 30 66 140 61 147 19 6 11 5 6 6 183 9 4 1 2 2 0
3% 15% 23% 28% 8% 21% 36% 27% 17% 3% 11% 0% 4% 17% 8% 20% 80% 4% 7% <1% 7% 7% o
Labour 161 15 a1 a1 23 23 19 91 71 7 114 0 21 2 12 5 8 129 3 11 6. 4 1
19% 12% 27% 26% 21% 16% 10% 18% 20% 4% 64% <1% 7% 9% 16% 17% 3% 62% 5% 4% 22% 12% 8%
Liberal Democrat 48 8 6 17 4 2 9 38 10 6 1 33 2 1 3 1 5 6 35 1 0 0 1
6% 6% 4% 11% 4% 2% 5% 7% 3% 3% <1% 61% <1% 4% 4% 4% 2% 3% 61% <1% o '] 7%
Green 20 4 2 0 10 3 2 13 8 il 5 3 5 0 2 0 il ] 3 6 0 2 1
2% 3% 2% o 9% 2% <1% 2% 2% <1% 3% 5% 2% 2% 3% o <1% 3% 5% 2% o 6% 7%
UKIP 15 3 4 3 1 1 3 9 5 5 1 1 3 0 2 1 7 4 1 0 1 0 1
2% 2% 2% 2% 1% <1% 2% 2% 2% 3% <1% 2% 1% o 2% 3% 3% 2% 1% '] 4% '] 5%
Other 5 2 1 1 0 0 0 2 2 il 0 0 il 0 0 il il 0 0 0 2 0 1
<1% 2% <1% <1% '] o '] <1% <1% <1% o o <1% o o 4% <1% o o o 8% o 8%
Would not vote 1 1 0 0 0 0 0 0 1 0 0 0 0 0 0 1 0 0 0 0 1 0 0
<1% 1% o o o o o o <1% o o o o o o 4% o o 1] o 5% o 1]
Don’t Know/ Not sure 103 10 6 6 12 28 40 60 42 9 20 10 25 5 31 il 23 25 10 16 6. 21 1
12% 8% 4% 4% 11% 19% 22% 12% 12% 5% 11% 19% 8% 18% 43% 4% 10% 12% 18% 5% 21% 66% 9%
Prefer not to say 6 4 0 1 1 0 0 3 3 0 1 0 1 0 4 1 0 2 0 2 0 1 1
<1% 3% o <1% 1% o o <1% <1% o <1% o <1% o 5% 2% o <1% o <1% o 4% 8%
Q7b. Who would you vote for |Base: Likely voters 758 109 143 150 96 118 143 449 309 168 157 44 293 22 38 28 206 180 47 280 20 10 12
with your constituency vote if |at Q7a, excluding (764)| (97)i (134)i (151)i (117) (118) (147)| (447)i (317)| (160); (144) (36); (316) (21) (42) (31)| (195)i (158) (35); (313) (20) (10) (12)
a Scottish Parliamentary lundecided at Q7b
Election took place tomorrow? |S| 308 59 55 44 49 58 44 156 152 2 17 1 249 14 13 13 1 28 2 261 9 2 7
41% 54% 38% 30% 51% 49% 31% 35% 49% 1% 11% 2% 85% 62% 33% 48% <1% 15% 3% 93% 44% 20% 58%
Conservative 201 18 34 44 9 30 66 140 61 147 19 6 11 5 6 6 183 9 4 1 2 2 0
26% 17% 24% 29% 9% 26% 46% 31% 20% 88% 12% 13% 4% 21% 16% 22% 89% 5% 8% <1% 9% 23% [
Labour 161 15 41 41 23 23 19 91 71 7 114 0 21 2 12 5 8 129 3 11 6. 4 1
21% 14% 29% 27% 24% 19% 13% 20% 23% 4% 73% <1% 7% 11% 32% 18% 4% 72% 6% 4% 30% 39% 9%
Liberal Democrat 48 8 6 17 4 2 9 38 10 6 1 33 2 1 3 1 5 6 35 1 0 0 1
6% 7% 4% 12% 5% 2% 6% 8% 3% 3% <1% 75% <1% 5% 8% 4% 3% 3% 74% <1% [} o 9%
Green 20 4 2 0 10 5] 2 13 8 1 5 3 5 0 2 0 1 5 3 6. 0 2 1
3% 3% 2% o 10% 2% 1% 3% 2% <1% 3% 6% 2% 2% 6% [} <1% 3% 7% 2% o 19% 9%
UKIP 15 3 4 3 1 1 3 9 5 5 1 1 3 0 2 1 7 4 1 0 1 0 1
2% 2% 3% 2% 1% 1% 2% 2% 2% 3% <1% 3% 1% o 4% 4% 3% 2% 2% o 6% o 6%
Other 5 2 1 1 0 0 0 2 2 1 0 0 1 0 0 1 1 0 0 0 2 0 1
<1% 2% 1% <1% o o o <1% <1% <1% o o <1% o o 4% <1% o o o 11% o 10%




JIN:W7181wl7

04/10/2018

Base: 1,024 2014 Independence 2016 EU Referendum Country of Birth Do you live in (or within a few miles of) one of the following cities?
Referendum
Ivoted i Ivoted :Idid not| The UK { The UK i Did not |Scotland England All Aberdee i Dundee iEdinburg: Glasgow :Invernes: Perth Stirling i None of
Yes No vote should § should vote others n h s the
remain | leave ahova
Total 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
Q6. How would you vote in Base: Likely voters 352 458 47 495 306 56 714 82 61 76 74 170 317 26 30 42 122
response to the question: at Q5, i (374): (436) (47)| (496): (308) (53)| (677): (127) (53) (75) (71); (172); (312) (30) (33) (42); (122)
Should Scotland be an Yes 309 a7 22 252 94 32 326 21 30 34 27 76 155 10 16 18 41
independent country? 88% 10% 46% 51% 31% 57% 6% 26% 50% 5% 7% 5% 49% 39% 4% 43% 33%
No a4 411 25 243 212 24 388 61 31 42 46 94 163 16 14 24 81
12% 90% 54% 49% 69% 43% 54% 74% 50% 5% 3% 55% 51% 61% 6% 57% 67%
Q7b. Who would you vote for |Base: Likely (8-10) 367 450 50 501 319 47 722 82 65 75 74 168 328 25 36 46 116
with your constituency vote if |voters at Q7a (388): (429) (50)( (504): (318) (45)| (685): (125) (57) (75) (72): (171): (324) (28) (38) (45); (114)
a Scottish Parliamentary SNP 247 43 18 214 76 18 267 17 25 32 22 63 117 9 14 16 36
Election took place tomorrow? 67% 9% 7% 43% 24% 38% 37% 21% 38% 42% 30% 37% 36% 35% 38% 36% 32%
Conservative 19 173 9 73 121 7 156 29 17 15 19 32 75 7 11 12 30
5% 38% 8% 15% 38% 15% 22% 35% 25% 20% 26% 19% 23% 26% 31% 25%
Labour 47 106 9 102 51 8 141 15 6 8 16 34 73 1 3 12 11
13% 24% 7% 20% 16% 17% 19% 18% 10% 1% 22% 20% 22% 5% 14% 25% 10%
Liberal Democrat 7 40 1 36 9 2 37 7 4 5 2 13 14 1 1 0 11
2% 9% 2% 7% 3% 4% 5% 9% 6% 7% 3% 8% 4% 4% 3% o 10%
Green 8 11 1 18 1 1 17 2 1 2 4 2 7 1 1 0 2
2% 3% 2% 4% <1% 2% 2% 3% 2% 3% 5% 1% 2% 5% 3% o 2%
UKIP 8 5 1 0 15 0 8 4 2 1 0 4 3 0 1 0 5
2% 1% 2% 1] 5% 1] 1% 5% 4% 2% o 3% <1% <1% 2% o 4%
Other 2 1 1 1 3 1 5 0 0 0 0 0 2 0 0 1 1
<1% <1% 2% <1% <1% 2% <1% o o o o o <1% o o 3% 1%
Would not vote 0 0 1 0 1 0 0 0 1 1 0 0 0 0 0 0 0
o o 3% o <1% o o o 2% 2% o o o o o 1] o
Don’t Know/ Not sure 29 69 5 54 40 8 88 7 7 8 il 20 32 6 2 5 18
8% 15% 11% 11% 12% 17% 12% 9% 11% 11% 14% 12% 10% 25% 6% 11% 16%
Prefer not to say 1 2 3 1 2 2 4 1 1 1 0 0 3 0 1 0 0
<1% <1% 6% <1% <1% 5% <1% <1% 2% 2% o o 1% o 4% o o
Q7b. Who would you vote for |Base: Likely voters 338 380 40 446 276 37 629 74 55 64 64 149 292 19 33 41 97
with your constituency vote if |at Q7a, excluding (358); (365)i (41)| (450); (279); (35)| (601)i (114) (49) (65) (62); (152)i (290) (22) (35) (41) (97)
a Scottish Parliamentary
Election took place tomorrow? 247 43 18 214 76 18 267 17 25 32 22 63 117 9 14 16 36
73% 11% 46% 48% 28% 49% 42% 23% 45% 49% 35% 42% 40% 46% 42% 40% 37%
Conservative 19 173 9 73 121 7 156 29 17 15 19 32 75 7 11 12 30
6% 46% 22% 16% 44% 19% 25% 39% 30% 24% 30% 22% 26% 35% 34% 28% 31%
Labour a7 106 9 102 51 8 141 15 6 8 16 34 73 1 5 12 11
14% 28% 21% 23% 19% 22% 22% 20% 11% 13% 25% 23% 25% 6% 16% 28% 11%
Liberal Democrat 7 40 1 36 9 2 37 7 4 5 2 13 14 1 1 0 11
2% 10% 3% 8% 3% 6% 6% 9% 7% 8% 4% 9% 5% 5% 3% [} 12%
Green 8 11 1 18 1 1 17 2 1 2 4 2 7 1 1 0 2
2% 3% 2% 4% <1% 2% 3% 3% 3% 4% 6% 2% 3% 7% 3% [*] 2%
UKIP 8 5 1 0 15 0 8 4 2 1 0 4 3 0 1 0 5
2% 1% 3% [+ 5% [+ 1% 5% 4% 2% o 3% 1% <1% 2% [} 5%
Other 2 1 1 1 5] 1 5 0 0 0 0 0 2 0 0 1 1
<1% <1% 3% <1% <1% 3% <1% o o o o o <1% o o 3% 1%




JIN:W7181wl7

04/10/2018

Base: 1,024 Total GenderXAge SEG 2016 Holyrood Constituency Vote 2017 Westminster Vote
Male x ; Male x ;| Male x ; Female | Female ; Female [ ABC1 C2DE | Conserv: Labour : Liberal SNP Did not : Can't Iwas |Conserv: Labour : Liberal SNP Did not ; Can't I was
16-34 § 35-54 55+ X 16-34 i x 35-54 ¢ x 55 ative Democr vote irememb not ative Democr vote irememb not
at ar alinihla at ar alinihla
Total 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
Q7c. And who would you vote |Base: Likely (8-10) 868 124 149 157 110 145 183 512 356 177 177 54 318 27 73 31 229 207 57 298 26 32 14
for with your regional vote? voters at Q7a (867)| (110): (139): (159): (132): (144): (183)| (507): (360)| (168): (163) (45); (341) (25) (76) (34)| (215); (183) (43); (333) (26) (31) (14)
SNP 269 50 42 40 44 53 39 132 137 2 14 1 221 12 10 10 1 24 2 230 7 1 3
1% 0% 28% 26% 40% 37% 1% 26% 39% 1% 8% 2% 9% 43% 14% 31% <1% 12% 3% 77% 28% 3% 23%
Conservative 199 20 31 45 11 32 59 136 63 139 21 7 12 5 7 7 175 9 6 3 3 3 1
23% 6% 21% 29% 10% 22% 32% 27% 18% 78% 12% 3% 4% 17% 10% 24% 76% 4% 10% <1% 10% 9% 8%
Labour 154 16 39 35 22 21 21 90 65 6 107 3 24 2 7 5 7 124 4 12 4 1 1
18% 13% 26% 23% 20% 15% 11% 17% 18% 4% 60% 5% 8% 9% 9% 17% 3% 60% 8% 4% 13% 4% 8%
Liberal Democrat 59 9 9 20 3 3 14 a4 14 9 7 31 3 1 8 0 8 10 35 2 1 1 2
7% 7% 6% 13% 3% 2% 8% 9% 4% 5% 4% 58% <1% 4% 11% o 3% 5% 60% <1% 4% 3% 15%
Green 51 12 12 5 11 4 6 30 20 1 7 2 24 1 5 5 1 7 4 28 1 3 3
6% 10% 8% 3% 10% 3% 3% 6% 6% <1% 4% 3% 8% 5% 6% 17% <1% 4% 8% 9% 5% 9% 24%
UKIP 19 4 4 3 2 2 4 12 7 5 1 1 6 1 2 1 7 4 1 2 2 1 1
2% 3% 3% 2% 2% 2% 2% 2% 2% 3% <1% 2% 2% 4% 2% 3% 3% 2% 1% <1% 9% 3% 5%
Other 9 1 4 2 0 1 0 3 6 2 1 0 3 0 il 0 2 1 0 2 2 0 0
<1% <1% 3% 1% '] <1% '] <1% 2% 1% <1% o <1% o <1% o 1% <1% '] <1% 8% '] ']
Would not vote 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
[*] o 1] o 1] o 1] o 1] o o o o o o o o '] o '] o '] o
Don’t Know/ Not sure 102 8 8 5 14 27 40 63 40 12 19 9 24 5 30 3 27 26 6 17 6 20 1
2% 7% 5% 3% 13% 19% 2% 2% 11% 7% 1% 16% 8% 18% 41% 9% 12% 12% 10% 6% 21% 63% 9%
Prefer not to say 7 4 0 1 2 0 1 2 5 1 1 0 1 0 4 0 1 1 0 2 0 2 1
<1% 3% o <1% 2% o <1% <1% 1% <1% <1% 1] <1% [v] 6% [v] <1% <1% o <1% o 6% 8%
Q7c. And who would you vote |Base: Likely voters 758 112 142 151 94 118 142 447 312 164 157 45 293 22 39 29 201 180 51 280 21 10 12
for with your regional vote? at Q7a, i (762)| (100): (132): (153): (114): (117): (146)| (445): (317)| (156): (144) (37); (316) (21) (43) (31)| (190): (158) (38): (312) (21) (10) (12)
SNP 269 50 42 40 44 53 39 132 137 2 14 1 221 12 10 10 1 24 2 230 7 1 3
35% 44% 30% 27% 47% 45% 27% 29% 44% 1% 9% 2% 75% 53% 26% 34% <1% 13% 3% 82% 36% 10% 27%
Conservative 199 20 31 45 11 32 59 136 63 139 21 7 12 5 7 7 175 9 6 3 3 3 1
26% 18% 22% 30% 12% 27% 41% 31% 20% 84% 13% 16% 4% 21% 19% 26% 87% 5% 11% <1% 13% 28% 10%
Labour 154 16 39 35 22 21 21 90 65 6 107 3 24 2 7 5 7 124 4 12 4 1 1
20% 14% 28% 24% 23% 18% 14% 20% 21% 4% 68% 6% 8% 11% 7% 18% 4% 69% 8% 4% 7% 2% 9%
Liberal Democrat 59 9 9 20 3 3 14 44 14 9 7 31 3 1 8 0 8 10 35 2 1 1 2
8% 8% 6% 13% 3% 3% 10% 10% 5% 5% 4% 9% 1% 5% 1% o 4% 6% 67% <1% 6% 1%
Green 51 12 12 5 11 4 6 30 20 1 7 2 24 1 5 5 1 7 4 28 1 3
7% 11% 9% 4% 12% 3% 4% 7% 7% <1% 5% 4% 8% 6% 12% 19% <1% 4% 8% 10% 6% 30%
UKIP 19 4 4 3 2 2 4 12 7 5 1 1 6 1 2 1 7 4 1 2 2 1
2% 3% 3% 2% 2% 2% 3% 3% 2% 3% <1% 3% 2% 5% 4% 4% 4% 2% 2% <1% 11% 9%
Other 9 1 4 2 0 1 0 B] 6 2 1 0 Bl 0 1 0 2 1 0 2 2 0
1% 1% 3% 1% o <1% o <1% 2% 1% <1% o <1% 1] 2% 1] 1% <1% 1] <1% 11% 1]
Q8b. How would you vote if Base: Likely (8-10) 892 117 160 158 115 155 187 522 369 180 177 55 314 44 85 27 238 211 57 293 39 36 13
another EU Referendum took |voters at Q8a (891)) (104): (148): (160): (138): (154): (187)| (517): (374)| (171): (162) (46); (336) (44) (88) (29)|..(224): (185) (43): (327) (39) (36) (13)
place tomorrow? The UK should 523 80 88 87 94 89 85 334 188 56 109 41 208 31 52 19 66 146 47 206 27 21 8
remain in the EU 59% 68% 55% 55% 82% 57% 46% 64% 51% 31% 62% 74% 66% 71% 61% 73% 28% 70% 83% 70% 69% 58% 62%
The UK should leave 311 28 64 62 13 59 84 158 153 109 58 10 88 12 25 7 152 56 6 71 10 12 2
the EU 35% 24% 40% 39% 11% 38% 45% 30% 42% 61% 33% 18% 28% 27% 29% 25% 64% 27% 11% 24% 27% 32% 15%
Don't know 51 7 7 7 7 7 16 29 22 12 9 4 16 1 6 1 18 7 4 16 2 3 1
6% 6% 4% 5% 6% 4% 8% 5% 6% 7% 5% 8% 5% 2% 7% 2% 8% 3% 7% 5% 5% 9% 4%
Would not vote 7 2 1 1 1 0 2 2 6 3 0 0 2 0 2 0 3 1 0 1 0 0 2
<1% 2% <1% <1% <1% o <1% <1% 2% 2% o o <1% o 3% o 1% <1% o <1% o o 18%




JIN:W7181wl7

04/10/2018

Base: 1,024 2014 Independence 2016 EU Referendum Country of Birth Do you live in (or within a few miles of) one of the following cities?
Referendum
Ivoted i Ivoted :Idid not| The UK { The UK i Did not |Scotland England All Aberdee i Dundee iEdinburg: Glasgow :Invernes: Perth Stirling i None of
Yes No vote should § should vote others n h s the
remain | leave ahova
Total 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
Q7c. And who would you vote |Base: Likely (8-10) 367 450 50 501 319 47 722 82 65 75 74 168 328 25 36 46 116
for with your regional vote? voters at Q7a (388): (429) (50)( (504); (318) (45)| (685): (125) (57) (75) (72); (171); (324) (28) (38) (45); (114)
SNP 218 35 15 187 68 14| 236 15 18 29 21 50 107 4 15 15 28
59% 8% 30% 37% 21% 30% 33% 18% 27% 39% 28% 30% 33% 16% 40% 34% 24%
Conservative 20 167 11 69 123 8 156 25 18 12 22 32 74 5 11 12 31
6% 37% 22% 14% 38% 16% 22% 31% 28% 16% 29% 19% 23% 20% 30% 25% 27%
Labour 46 100 8 95 53 6 133 15 6 8 14 29 74 0 ] 11 14
13% 22% 15% 19% 17% 13% 18% 18% 9% 11% 19% 17% 23% '] 13% 23% 12%
Liberal Democrat 8 50 1 48 7 4 46 10 2 7 5 16 15 4 1 0 12
2% 11% 2% 10% 2% 7% 6% 12% 3% 9% 7% 9% 4% 15% 3% o 10%
Green 31 16 3 42 6 3 a1 2 7 6 3 11 17 4 1 2 7
9% 4% 7%. 8% 2% 7% 6% 3% 11% 8% 4% 7% 5% 17% 2% 4% 6%
UKIP 11 7 1 1 17 1 11 5 2 1 1 6 5 0 1 0 5
3% 2% 2% <1% 5% 2% 2% 7% 4% 2% 1% 3% 2% <1% 2% o 4%
Other 4 4 0 3 6 0 8 i 0 0 0 2 3 0 0 1 2
1% <1% o <1% 2% o 1% <1% o o o 1% 1% o o 3% 2%
Would not vote 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
o 1] o 1] o 1] o o o o o o o o '] o ']
Don‘t Know/ Not sure 28 68 6 57 38 8 84 9 10 11 9 22 28 8 2 ] 18
8% 15% 13% 11% 12% 16% 2% 1% 15% 4% 12% 13% 8% 32% 6% 11% 16%
Prefer not to say 1 2 4 1 2 4 5 1 1 1 0 0 4 0 1 0 0
<1% <1% 8% <1% <1% 8% <1% <1% 2% 2% o o 1% o 4% o o
Q7c. And who would you vote |Base: Likely voters 339 380 40 444 279 36 632 72 54 63 65 146 295 17 33 41
for with your regional vote? at Q7a, i (359): (363) (40)) (448): (280) (34)| (603): (111) (48) (63) (63): (150): (293) (20) (35) (41)
SNP 218 35 15 187 68 14 236 15 18 29 21 50 107 4 5 5
64% 9% 38% 42% 24% 40% 37% 20% 33% 46% 32% 34% 36% 23% 45% 38%
Conservative 20 167 11 69 123 8 156 25 18 12 22 32 74 5 11 12
6% 44% 28%)| 15%: 44%: 21%| 25% 35%: 34%| 19% 33% 22% 25% 0%  33%  28%
Labour 46 100 8 95 53 6 133 15 6 14 29 74 0 5 il
4% 26% 19% 21% 19% 17% 21% 20% 1% 13% 21% 20% 25% '] 4% 26%
Liberal Democrat 8 50 1 48 7 4 46 10 2 7 5 16 15 4 1 0
2% 13% 3% 11% 2% 10% 7% 14% 4% 10% 8% 11% 5% 2% 4% 1]
Green 31 16 3 42 6 B a1 2 7 6 3 11 17 4 1 2
9% 4% 9% 9% 2% 9% 6% 3% 14% 10% 4% 8% 6% 24% 2% 5%
UKIP 11 7 1 1 17 1 11 5 2 1 1 6 5 0 1 0
3% 2% 3% <1% 6% 3% 2% 7% 4% 2% 1% 4% 2% <1% 2% o
Other 4 4 0 B] 6 0 8 1 0 0 0 2 Bl 0 0 1
1% 1% o <1% 2% o 1% <1% o o o 2% 1% o o 3%
Q8b. How would you vote if Base: Likely (8-10) 370 474 48 521 327 43 741 85 66 80 77 180 328 28 34 46
another EU Referendum took |voters at Q8a (390): (454) (47)| (521); (330) (40)| (702): (131) (58) (80) (74); (181): (322) (31) (36) (45)
place tomorrow? The UK should 234! 258 31 473 25 25 441 39 43 55 44 116 188 17 18 25
remain in the EU 63% 54% 64% 91% 7%. 57% 59% 46% 66% 69% 57% 65% 57% 63% 53% 56%
The UK should leave 113 186 12 27 273 10 253 41 18 18 29 51 120 10 11 18
the EU 30% 39% 26% 5% 83% 24% 34% 48% 27% 22% 37% 29% 36% 37% 34% 40% 44%
Don't know 21 28 1 18 29 3 42 5 4 7 4 11 17 0 2 2 7
6% 6% 3% 3% 9% 8% 6% 6% 6% 9% 5% 6% 5% o 7% 5% 6%
Would not vote 2 2 3 2 1 5 6 1 1 0 0 1 3 0 2 0 1
<1% <1% 7% <1% <1% 11% <1% <1% 2% o o <1% <1% o 6% o <1%




JIN:W7181wl7

04/10/2018

Base: 1,024 Total GenderXAge SEG 2016 Holyrood Constituency Vote 2017 Westminster Vote
Male x ; Male x ;| Male x ; Female | Female ; Female [ ABC1 C2DE | Conserv: Labour : Liberal SNP Did not : Can't Iwas |Conserv: Labour : Liberal SNP Did not ; Can't I was
16-34 | 35-54 55+ x 16-34 i x 35-54: x 55 ative Democr vote irememb not ative Democr vote irememb not
at ar alinihla at ar alinihla
Total 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
Q8b. How would you vote if Base: Likely voters 834 108 152 149 107 149 170 492 342 165 167 50 296 43 76 26 217 203 54 276 37 33 10
another EU Referendum took |at Q8a, excluding (833)| (96); (140)i (151); (129): (148). (169)| (486): (347)| (157); (153) (41); (318) (43) (80) (28)| (204); (178) (40); (309) (37) (33) (10)
place tomorrow? Lundecided.at. O8b.
The UK should 523 80 88 87 94 89 85 334 188 56 109 41 208 il 52 19 66 146 47 206 27 21 8
remain in the EU 63%)| 74% 58%: 58% 88% 60%;: 50%)| 68% 55%)| 34%  65% 81%: 70% 73%  68%: 74%| 30% 72%: 89% _74% _ 72%: _64% _ 81%
The UK should leave 311 28 64 62 13 59 84 158 153 109 58 10 88 12 25 7 152 56 6 71 10 12 2
the EU 37% 26% 42% 42% 12% 40% 50% 32% 45% 66% 35% 19% 30% 27% 32% 26% 70% 28% 11% 26% 28% 36% 19%
Q8c. Regardless of whether Base: All 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
you support or oppose respondents (1024)| (134): (156): (173): (184): (174): (203)| (569): (455) (173): (179) (50): (362) (85): (111) (49)| (231): (206) (44): (356) (87) (50) (24)
independence, which of these
is closest to your view? I believe Scotland is 301 64 49 44 50 50 45 149 152 9 45 9 175 31 19 12 13 57 6 179 26 10 9
likely to become 29% 42% 29% 26% 33% 28% 22% 26% 34% 5% 23% 16% 52% 36% 18% 25% 5% 24% 11% 56% 29% 20% 36%
indenpendent. within.
I believe Scotland is 192 34 25 30 42 26 35 92 99 13 43 17 84 7 14 13 24 59 14 66 16 5 8
likely to become 19% 22% 15% 18% 27% 15% 17% 16% 22% 7% 22% 28% 25% 8% 13% 29% 10% 25% 23% 21% 18% 10% 31%
independent but not
I believe Scotland is 105 10 19 21 10 23 22 70 35 25 26 4 18 13 13 5 29 31 9 18 11 6 1
likely to become 10% 6% 11% 12% 6% 13% 11% 12% 8% 14% 13% 7% 5% 16% 12% 10% 12% 13% 14% 6% 13% 13% 5%
in it but not
I don't believe 304 29 61 68 28 42 76 205 99 122 68 26 34 14 25 10 158 62 29 29 9 11 3
Scotland is likely to 30% 19% 36% 40% 18% 24% 38% 36% 22% 67% 35% 43% 10% 17% 24% 22% 64% 26% 49% 9% 11% 23% 12%
become independent
at.Anv.noint.in.the.
Don't know 122 15 15 8 24 36 24 61 61 13 12 4 27 20 36 7 22 26 2 26 25 17 4
12% 10% 9% 5% 16% 20% 12% 11% 14% 7% 6% 6% 8% 23% 34% 14% 9% 11% 3% 8% 29% 34% 16%
Q8d. When do you think Base: All 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
another Scottish respondents (1024)| (134)i (156); (173): (184)! (174); (203)| (569): (455)| (173)! (179) (50); (362) (85)! (111) (49)| (231); (206) (44)! (356) (87) (50) (24)
independence referendum
should be held? While the UK is 193 59 29 12 46 29 18 98 95 5 35 7 98 18 14 14 7 46 3 103 5 10 8
negotiating to leave 19% 9% 17% 7% 30% 16% 9% 17%, 21% 3% 18% 1% 29% 21% 13% 29% 3% 20% 6% 32% 18% 20% 32%
When the UK has 286 53 51 a1 48 46 48 136 150 7 41 12 164 21 27 14| 16 58 7 159 26 11 8
finished negotiating 28% 35% 30% 24% 31% 26% 24% 24% 34% 4% 21% 21% 49% 25% 25% 29% 6% 25% 12% 50% 29% 22% 34%
There should not be 546 40 89 117 60 103 136 344 202 170 118 40 76 47 67 19 224 130 49 56 46 28 9
another Scottish 53% 27% 53% 69% 39% 58% 67% 60% 45% 93% 61% 68% 22% 55% 62% 41% 91% 56% 82% 18% 53% 58% 35%
independence
um in the
Q9. If the UK left the EU Base: Yes at Q6 401 98 72 47 73 61 52 194 207 6 50 14 252 33 28 16 11 71 6 258 30 14 10
without an agreement on (420)| (88): (68): (53): (91)i (63). (57)| (203)i (217) (6): (46)i  (12): (273): (32)i (28). (19)| _ (10)i  (59) (4); (288); (29). (14):  (10)
future trading arrangements - |I would still vote Yes 361 89 65 44 62 51 50 179 182 4 43 11 236 28 21 15 7 64 6. 238 21 13 10
a "No Deal” Brexit - would this 90% 91% 91% 94% 85% 84% 96% 92% 88% 64% 87% 76% 94% 87% 73% 91% 58% 90%: 100% 93% 70% 92%: 100%
affect the way you would vote |1 would change my 10 6 2 0 1 1 0 2 8 1 3 1 3 0 2 0 3 4 0 3 1 0 0
in a second Scottish vote to No 3% 6% 3% [} 2% 2% [1) 1% 4%)  21% 5% 8% 1% [1} 9% 0l 22% 5% [1) 1% 4% [} [1)
Independence referendum?  (T'don’t know how I 30 3 4 3 10 9 2 14 17 1 4 2 12 4 5 1 2 3 0 16 8 1 0
would vote 8% 3% 6% 6% 13% 14% 4% 7% 8% 16% 8% 16% 5% 13% 19% 9% 20% 4% o 6% 26% 8% o
Q9. If the UK left the EU Base: No at Q6 503 39 84 107 51 96 127 333 170 171 121 42 57 29 60 16 229 129 49 37 25 26 6
without an agreement on (485)|  (33). (76): (103)i  (58): (91). (124)| (316)i (169)| (162). (111): (35): (58)i (29): _(63): (16)| (215)} (115); (37).  (42): _(26)i _ (27) (6)
future trading arrangements - | would change my 15 B] 4 3 4 0 9 5 3 9 1 1 1 0 0 4 10 0 0 0 1 0
a "No Deal” Brexit - would this |vote to Yes 3% 7% 5% 3% 7% <1% 3% 3% 2% 7% 3%, 2% 3%, o o 2% 8% o o (1] 3% (1]
affect the way you would vote |T would still vote No 409 31 73 94 33 69 276 133 156 99 36 41 24 41 8 208 95 41 29 15 16 2
in a second Scottish 81% 81% 87% 89% 65% 72% 83% 78% 91% 82% 85% 72% 82% 68% 52% 91% 74% 83% 79% 62% 60% 33%
Independence referendum?  (T'don’t know how I 79 5 7 9 14 26 48 32 12 14 5 15 4 19 8 16 24 8 8 9 10 4
would vote 16% 13% 8% 8% 28% 27% 14% 19% 7% 11% 12% 26% 15% 32% 48% 7% 18% 17% 21% 38% 36% 67%




JIN:W7181wl7

04/10/2018

Base: 1,024 2014 Independence 2016 EU Referendum Country of Birth Do you live in (or within a few miles of) one of the following cities?
Referendum
Ivoted i Ivoted :Idid not| The UK { The UK i Did not |Scotland England All Aberdee i Dundee iEdinburg: Glasgow :Invernes: Perth Stirling i None of
Yes No vote should § should vote others n h s the
remain | leave ahave
Total 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
Q8b. How would you vote if Base: Likely voters 346 444 43 501 298 35 693 79 61 73 73 168 307 28 30 43 112
another EU Referendum took |at Q8a, excluding (365); (426) (42)| (501); (300); (32)| (657)i (123)i (53)| (74); (70); (167)i (302)i (31)i (32); (43); (114)
place tomorrow? lundecided.at.O8h.
The UK should 234 258 31 473 25 25 441 39 43 55| 44 116 188 17 18 25 59
remain in the EU 67%:  58%  71%)| 95% 8%: 70%| 64% 49%: 71%| 76% 60%: 69% 61% _ 63%: 61% _ 58% _ 52%
The UK should leave 113 186 12 27 273 10 253 41 18 18 29 51 120 10 11 18 53
the EU 33% 42% 29% 5% 92% 30% 36% 51% 29% 24% 40% 31% 39% 37% 39% 42% 48%
Q8c. Regardless of whether Base: All 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
you support or oppose respondents (438): (490) (96)| (565): (354): (105)( (809): (143) (72) (91) (81): (204): (382) (35) (42) (50);: (139)
independence, which of these
is closest to your view? 1 believe Scotland is 212 58 31 194, 65 41 253 18 30 25 16 67 123 10 18 11 31
likely to become 51% 11% 32% 35% 19% 38% 30% 20% 36% 27% 19% 33% 32% 34% 44% 21% 23%
independent.within
1 believe Scotland is 97 78 17 116 61 15 165 10 17 16 26 25 80 6 8 10 20
likely to become 23% 15% 18% 21% 17% 14% 19% 11% 21% 17% 31% 13% 21% 20% 21% 19% 14%
independent but not
1 believe Scotland is 28 69 8 61 37 8 88 9 8 11 6 25 36 4 1 6 16
likely to become 7% 13% 8% 11% 10% 7% 10% 10% 9% 12% 8% 12% 9% 13% 3% 12% 12%
but not.
e 40 246 18 139 147 18 240 46 19 26 29 72 92 6 10 20 51
Scotland is likely to 10% 48% 19% 25% 42% 16% 28% 50% 23% 28% 34% 35% 24% 19% 24% 39% 37%
become independent
at.aow.naint.in.the.
Don't know 37 62 23 53 41 28 104 8 9 13 7 14 55 4 4 4 20
9% 12% 24% 9% 12% 25% 12% 9% 11% 15% 8% 7% 14% 14% 9% 8% 14%
Q8d. When do you think Base: All 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50
another Scottish respondents (438); (490); (96)| (565); (354); (105)| (809)i (143) (72) (91) (81)! (204); (382) (35) (42) (50)
independence referendum
should be held? While the UK is 140 30 23 137 31 24] 158 12 23 21 12 40 84 2 13 5
negotiating to leave 34% 6% 4% 24% 9% 22% 19% 13% 28% 23% 14% 20% 22% 8% 32% 11%
When the UK has 189 72 25 171 83 32 245 15 26 23 31 58 110 13 8 15
finished negotiating 45%;  14%: 26%)| 30%; 24%: 29%| 29% 16%: 31%)| 25% 36% 28%: 29%: 42%: 21%: 31%
There should not be 87 411 48 255 237 53 446 66 34| 48 42 106 193 16 19 29
another Scottish 21% 80% 0% 45% 68% 48% 53% 71% 41% 52% 50% 52% 50% 51% 47% 58%
independence
um in the
Q9. If the UK left the EU Base: Yes at Q6 323 51 27 261 101 40 35 36 27 84 162 13 19 18 42
without an agreement on (342);  (52)  (26)| (276); (106):  (38) (31) . (38)) (28)i (90) (164). (14)! (21)i _ (20);  (45)
future trading arrangements - (I would still vote Yes 298 39 24| 245 82 34| 33 31 25 73 151 10 17 17 37
a "No Deal” Brexit - would this 92% 76% 89% 94% 81% 87% 94% 84% 91% 86% 93% 80% 90% 96% 88%
affect the way you would vote |T would change my 7 4 0 5 6 0 1 1 1 5 1 1 0 0 1
in a second Scottish vote to No 2% 7% [1} 2% 6% [1) 3% 3% 4% 5%; <1%: 10% [} [1) 2%
Independence referendum?  [1'don’t know how 1 19 9 3 11 14 5 1 5 1 7 9 1 2 1 4
would vote 6% 17% 11% 4% 14% 13% 3% 13% 4% 9% 6% 10% 10% 4% 9%
Q9. If the UK left the EU Base: No at Q6 48 425 29 257 216 30 406 64 33 45 46 98 174 16 16 24 83
without an agreement on (50): (404) (31)( (243): (214) (28)| (361) (96) (28) (43) (43) (94): (167) (18) (16) (23) (81)
future trading arrangements - | would change my 5 10 0 11 4 0 13 1 1 1 3 6 1 0 3 0 0
a "No Deal” Brexit - would this |vote to Yes 10% 2% o 4% 2% o 3%, <1% 3%, 3% 6% 7% <1% o 20% o o
affect the way you would vote (1 would still vote No 32 358 19 195 193 21 329 52 28 34 35 76 146 14 11 23 70
in a second Scottish 67% 84% 63% 76% 90% 70% 81% 81% 87% 75% 75% 78% 84% 89% 69% 95% 84%
Independence referendum?  [T'don’t know how I 11 57 11 51 19 9 64 12 3 10 9 16 27 2 2 1 13
would vote 24% 13% 37% 20% 9% 30% 16% 18% 9% 22% 19% 16% 15% 11% 11% 5% 16%




JIN:W7181wl7

04/10/2018

Base: 1,024 Total GenderXAge SEG 2016 Holyrood Constituency Vote 2017 Westminster Vote
Male x ; Male x ;| Male x ; Female | Female ; Female [ ABC1 C2DE | Conserv: Labour : Liberal SNP Did not : Can't Iwas |Conserv: Labour : Liberal SNP Did not ; Can't I was
16-34 § 35-54 55+ X 16-34 i x 35-54 ¢ x 55 ative Democr vote irememb not ative Democr vote irememb not
at ar alinihla at ar alinihla
Total 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
Q9. If the UK left the EU Base: Don't know 94 9 11 15 20 16 23 41 54 5 23 3 29 10 14 9 6 32 4 23 14 8 7
without an agreement on at Q6 (93) (8) (10) (15) (24) (15) (21) (41) (52) (5) (21) (3) (30) (10) (15) (9) (5) (30) (3) (26) (13) (8) (6)
future trading arrangements - |I would vote Yes 17 0 2 2 5 4 4 7 10 2 4 1 6 0 2 2 2 6 0 6 0 1 1
a "No Deal” Brexit - would this 8% o 14% 6% 24% 26% 20% 18% 18% 36% 18% 31% 21% o 2% 25% 0% 19% '] 25% '] 4% 18%
affect the way you would vote [T would No 8 2 1 0 2 1 1 4 3 2 2 0 1 0 0 2 2 2 0 1 1 0 1
in a second Scottish 8% 26% 9% o 9% 7% 5% 10% 6% 43% 10% o 3% o o 23% 0% 7% o 4% 8% '] 13%
Independence referendum?  [Tsili don’t know how 69 7 9 13 14 10 17 29 40 1 17 2 22 10 12 5 1 24 4 17 13 6 5
I would vote 74% 74% 77% 84% 67% 67% 75% 71% 75% 21% 72% 69% 75%: 100% 88% 52% 20% 73%: 100% 70% 92% 86% 68%
Q9. If the UK left the EU Base: Certain not 25 6 1 2 10 5 1 9 16 o 1 o o 13 6 6 1 3 o o 18 1 2
without an agreement on to vote at Q5 or (26) (5) ) () (1) (5) (1) 9 17) 0) 1) 0) 1)  (14) (5) (5) (1) (2) (0) 0); (19) (1) (2)
future trading arrangements - (Would.not.vote. at.
a “No Deal” Brexit - would this |I would vote Yes 1 1 0 0 0 0 0 1 0 0 0 0 0 1 0 0 0 0 0 0 1 0 0
affect the way you would vote 5% 18% 1] o 1] o 1] 13% 1] o 1] o 1] 9% 1] 1] 1] o (1] o 6% o (1]
in a second Scottish I would vote No 3 0 0 0 0 0 0 3 0 0 0 0 0 1 1 1 0 0 0 1 0 0
Independence referendum? 10% 40% '] '] '] '] '] '] 16% '] o '] '] '] 3% 23%)| 100% '] '] '] 7% '] ']
I don’t know how I 4 0 0 0 4 0 0 0 4 0 1 0 0 2 2 0 0 0 0 0 3 1 0
would vote 16% o 1] o 43% o 1] o 26% 0: 100% 1] 1] 13% 2% 1] 1] o (1] o 18%: 100% (1]
I still wouldn't vote 18 3 1 2 5 5 1 8 10 0 0 0 0 11 3 4 0 3 0 0 13 0 2
69% 41%: 100%: 100% 57%: 100%: 100% 87% 59% 1] 1] 0: 100% 78% 45% 77% 0: 100% 1] 1] 69% 0: 100%
Q9. If the UK left the EU Base: All 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
without an agreement on respondents (1024)| (134); (156); (173). (184)! (174): (203)| (569); (455)| (173)! (179) (50); (362) (85); (111) (49)| (231); (206) (44); (356) (87) (50) (24)
future trading arrangements -
a “No Deal” Brexit - would this [I would vote Yes 394 92 70 50 70 55 55 197 197 9 56 13 244 30 22 17 13 80 6 244 22 15 12
affect the way you would vote 38% 61% 42% 29% 46% 31% 27% 34% 44% 5% 29% 22% 2% 35% 1% 36% 5% 34% 11% 77% 25% 30% 47%
in a second Scottish I would vote No 429 42 76 94 36 72 109 282 147 160 103 37 45 24 44 11 214 101 41 33 19 16 3
Independence referendum? 42% 28% 45% 55% 24% 41% 54% 49% 33% 88% 3% 62% 13% 28% 1% 25% 87% 43% 69% 10% 22% 33% 11%
Don't know 183 15 20 24 42 45 37 90 93 14/ 35 10 49 21 38 14| 20 50 12 41 34 18 8
18% 10% 12% 14% 27% 26% 18% 16% 21% 8% 18% 16% 14% 24% 6% 30% 8% 22% 20% 13% 39% 37% 34%
Wouldn't vote 18 3 1 2 5 5 1 8 10 0 0 0 0 11 3 4 0 3 0 0 13 0 2
2% 2% <1% 1% 4% 3% <1% 1% 2% 1] 1] 1] <1% 12% 2% 9% [v] 1% 1] o 15% o 8%
Q9. If the UK left the EU Base: Likely (8-10) 922 129 157 161 123 162 190 539 383 179 181 56 323 49 87 36 240 217 59 300 44 38 18
without an agreement on voters at Q5 (920)| (114): (145): (163): (149): (160): (189)| (531): (389) (170): (166) (47): (345) (48) (90) (39)|..(225): (191) (44): (336) (45) (38) (18)
future trading arrangements - |I would vote Yes 373 85 66 a7 66 54 55 191 182 7 51 12 241 23 21 16 11 75 6. 241 15 13 10
a "No Deal” Brexit - would this 40% 66% 42% 29% 53% 33% 29% 35% 48% 4% 28% 21% 75% 46% 24% 44% 4% 35% 11% 80% 34% 34% 56%
affect the way you would vote |T would vote No 407 33 75 91 31 70 107 272 135 159 98 36 43 19 38 9 211 94 41 29 12 16 2
in a second Scottish 44%)| 26%: 48% 57%: 25%: 43% 56%)| 51% 35%)| 89% 54% 64% 13%: 39%  43% 26%| 88%: 43%: 69% _10% _28%: _41%: 10%
Independence referendum?  (Bonit know 140 10 15 22 27 39 28 76 64] 14 32 8 38 7 27 11 18 47 12 30 17 10 6
15% 7% 10% 14% 22% 24% 14% 14% 17% 8% 17% 15% 12% 15% 31% 30% 8% 21% 20% 10% 38% 25% 34%
Wouldn't vote 1 1 0 0 0 0 0 0 1 0 0 0 0 0 1 0 0 1 0 0 0 0 0
<1% 1% o o o o o o <1% o o o o o 1% o o <1% o o o o o
Q9. If the UK left the EU Base: Likely voters 780 118 141 138 97 124 163 463 318 166 150 48 285 42 59 25 222 169 47 269 28 29 12
without an agreement on at Q5, excluding (780)| (104); (132)i (142); (117). (122); (163)| (457); (323)| (157); (137) (39)! (305) (41) (61) (27)| (207); (147) (35); (301) (28) (29) (12)
future trading arrangements - |undecided at Q9
a “No Deal” Brexit - would this
affect the way you would vote
in a second Scottish I would vote Yes 373 85 66 47 66 54 55 191 182 7 51 12 241 23 21 16 11 75 6 241 15 13 10
Independence referendum? 48% 72% 47% 34% 68% 43% 34% 41% 57% 4% 34% 25% 85% 54% 36% 63% 5% 44% 14% 89% 55% 45% 85%
I would vote No 407 33 75 91 31 70 107 272 135 159 98 36 43 19 38 9 211 94 41 29 12 16 2
52% 28% 53% 66% 32% 7% 66% 59% 43% 96% 66% 75% 15% 46% 64% 37% 95% 56% 86% 11% 45% 55% 15%
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Base: 1,024 2014 Independence 2016 EU Referendum Country of Birth Do you live in (or within a few miles of) one of the following cities?
Referendum
Ivoted i Ivoted :Idid not| The UK { The UK i Did not |Scotland England All Aberdee i Dundee iEdinburg: Glasgow :Invernes: Perth Stirling i None of
Yes No vote should § should vote others n h s the
remain | leave ahave
Total 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
Q9. If the UK left the EU Base: Don't know 40 32 22 43 31 20 78 5 11 7 9 18 40 2 3 7 8
without an agreement on at Q6 (41);  (30): (22)| (44); (30); (19) (75) (8) (10) (8) (9) (17) (40) (2) (3) (6) (8)
future trading arrangements - [I would vote Yes 7 10 0 15 2 0 13 1 3 1 3 3 6 1 1 1 1
a "No Deal” Brexit - would this 17% 32% o 35% 7% [*] 17% 25% 4% 14% 31% 18% 16% 50% 35% 16% 8%
affect the way you would vote [T would No 2 2 3 4 2 1 8 0 0 2 1 0 2 0 0 0 2
in a second Scottish 6% 6%: 15%|  10% 7% 6%)| 10% (1] 0| 29%: 14% (1] 5% (1] ('] 0 30%
Independence referendum? [T stiii don’t know how 31 20 19 24 27 19 57 4 8 4 5 15 32 1 2 6 5
I would vote 77% 62% 85% 55% 86% 94% 73% 75% 76% 58% 55% 82% 79% 50% 65% 84% 62%
Q9. If the UK left the EU Base: Certain not 4 4 17 2 4 19 21 1 4 2 1 3 10 1 2 1 5
without an agreement on to vote at Q5 or (5) @) @7 ) (4); (20) (21) 2) 3) 2) (1) 3) (1) (1) (2) (1) (5)
future trading arrangements - [Wauld.not.vote. at.
a “No Deal” Brexit - would this |I would vote Yes 0 0 1 0 0 1 1 0 0 0 0 1 0 0 0 0 0
affect the way you would vote o 1] 7%, 1] o 6% 6% 1] o 1] '] 37% '] '] '] '] ']
in a second Scottish I would vote No 0 1 1 1 1 0 1 0 1 1 0 0 1 0 0 0 0
Independence referendum? '] 28% 7% 53% 35% '] 6% o 6% 67% '] '] 12% '] '] '] ']
I don't know how I 2 1 1 0 1 8] 4 1 0 0 0 1 1 0 0 0 2
would vote 67%;:  20% 5% 0:..25%: 17%)|  17%}:  46% 0 0 0:  .28%: 14% 0 0 0 ..37%
I still wouldn't vote 1 2 14 1 1 15 15 1 2 1 1 1 8 1 2 1 3
33% 52% 81% 47% 40% 77% 71% 54% 64% 33%: 100% 34% 73%: 100%: 100%: 100% 63%
Q9. If the UK left the EU Base: All 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
without an agreement on respondents (438);: (490) (96)| (565); (354); (105)| (809): (143) (72) (91) (81): (204): (382) (35) (42) (50): (139)
future trading arrangements -
a “No Deal” Brexit - would this [I would vote Yes 309 59 25 271 87 35 337 21 36 33 30 83 159 il 21 18 37
affect the way you would vote 75% 12% 26% 48% 25% 32% 40% 23% 44% 36% 36% 41% 41% 5% 53% 37% 27%
in a second Scottish I would vote No 41 365 23 205 203 22 347 52 31 38 37 81 150 15 11 23 73
Independence referendum? 10% 71% 24% 36% 58% 20% 41% 56% 38% 42% 44% 40% 39% 0% 27% 46% 53%
Don't know 63 86 33 86 60 37 152 19 12 19 15 39 70 4 6 8 24/
15% 17% 35% 15% 17%, 34% 18% 20% 15% 21% 18% 19% 18% 12% 14% 15% 17%
Wouldn't vote 1 2 14 1 1 15 15 1 2 1 1 1 8 1 2 1 3
<1% <1% 15% <1% <1% 14% 2% <1% 3% <1% 2% <1% 2% 3% 5% 2% 2%
Q9. If the UK left the EU Base: Likely (8-10) 379 487 56 527 332 63 768 86 67 80 79 180 347 27 35 47 127
without an agreement on voters at Q5 (402): (463) (55)|..(529): (332) (59)| (728): (133) (59) (80) (76): (182): (341) (31) (37) (46): (127)
future trading arrangements - |I would vote Yes 297 55 21 257 84 31 321 21 31 33 29 75 151 10 18 18 37
a "No Deal” Brexit - would this 78% 11% 37% 49% 25% 49% 42% 24% 45% 41% 37% 42% 44% 37% 52% 40% 30%
affect the way you would vote |T would vote No 37 353 17 192 199 17 329 50 28 31 36 79 140 14 11 23 73
in a second Scottish 10%: 72%: 31%| 36%: 60%: 26%)| 43%: 59%: 41%)| 39%: 46%: 44%: 40%: 52%: 32%: 49%: 57%
Independence referendum?  [pon't know 45 79 17 77 49 14 116 15 9 16 13 26 55 3 5 6 16,
12% 16% 30% 15% 15% 23% 15% 17% 13% 20% 17% 14% 16% 11% 13% 12% 13%
Wouldn't vote 0 0 1 0 0 1 1 0 0 0 0 0 0 0 1 0 0
o o 2% o o 2% <1% o o o o o o o 4% o o
Q9. If the UK left the EU Base: Likely voters 334 408 38 449 283 47 650 71 58 64 65 155 291 24 29 41 110
without an agreement on at Q5, excluding (355); (388) (37)| (454). (282). (44)| (619)i (111) (50) (65) (63); (155); (288) (27) (31) (41)! (110)
future trading arrangements - |undecided at Q9
a “No Deal” Brexit - would this
affect the way you would vote
in a second Scottish T would vote Yes 297 55 21 257 84 31 321 21 31 33 29 75 151 10 18 18 37
Independence referendum? 89%: 14%: 55%)| 57%; 30%: 65%)| 49%: 29%: 52%)| 51%: 45%: 49%;: 52%: 41%:  62%: 45%:  34%
I would vote No 37 353 17 192 199 17 329 50 28 31 36 79 140 14 11 23 73
11% 86% 45% 43% 70% 35% 51% 71% 48% 49% 55% 51% 48% 59% 38% 5% 66%
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Base: 1,024 Total GenderXAge SEG 2016 Holyrood Constituency Vote 2017 Westminster Vote
Male x { Malex ; Male x i Female ;| Female ; Female | ABC1 C2DE | Conserv ; Labour : Liberal SNP Did not ;| Can't Iwas |Conservi Labour : Liberal SNP Did not | Can't I was
16-34 35-54 55+ x 16-34 i x 35-54: x 55 ative Democr vote irememb not ative Democr vote irememb not

at er slinihle at ar slinihle
Total 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
Q11a. How do you feel about |Base: Selected a 886 139 147 139 142 144 176 501 385 152 181 44 298 75 91 38 204 214 45 283 76 40 20
the future prospects of [City |city at Q10 (885)| (123)i (135)i (141): (168): (142)! (176)| (496)i (389)| (145): (167): (36): (319)i (73)i (93): (41)| (192): (188)i (32)i (317): (75): _ (40): _ (20)
chosen at Q10] over the next [5- Very optimistic 133 28 28 20 22 14 21 80 53 20 25 10 62 6 4 4] 25 32 5 56! 8 4 2
10-15 years? 5%)| 20%: 19%}: 14%: 15%; 10%: 12% 6%:  14%)| 13%: 14%}:  24% 1% 9% 4%:  10%|  12%;: 15%}; 11%: 20%: 11%;: 10%: _ 10%
4 - Fairly optimistic 373 61 53 52 62 65 81 208 165 75 74 20 122 26 38 13 91 90 23 111 24 20 12
2%)| 44%: 36%: 37%: 44%: 46%: 46% 1%: 43%)| 49%;: 41%:  46% 1% 5%;: 42%;: 35%| 45%;: 42%: 52%: 39% 2%: 51%: 58%
3 - Neither optimistic 277 41 43 54; 39 41 60 150 126 40 62 9 76 37 37 15 65 64 11 81 39 11 4
nor pessimistic 31%)|  29%: 29%: 39%; 27%:  29%:  34%)| 30%: 33%)| 26%;: 34%: 20%: 25%: 49%: 41%: 40%)| 32%: 30%: 25%: 29%: 51%: 28%: 22%
2 - Quite pessimistic 82 5 20 12 16 17 13 51 31 12 15 5 31 5 9 4 17 24 5 27 4 4 1
9% 4%;:  13% 8%: 11%: 12% 7%)|  10% 8% 8% 8%: 11%: 10% 7%;:  10% 9% 8%: 11%: 10%: 10% 5% 9% 4%
1 - Very pessimistic 23 4 4 2 4 7 2 12 11 6 5 0 6 0 3 2 6 5 1 7 1 1 1
3% 3% 3% 1% 3% 5% 1% 2% 3% 4% 3% 0 2% 0 4% 6% 3% 2% 3% 3% 1% 3% 6%
NET Optimistic (4-5) 506 89 81 72 83 79 101 288 217 95 100 30 184 33 42 17 116 121 28 168 32 24 14
57%)| 64%: 55%;: 51%: 59%: 55%;: 57%)| 58%: 56%)| 62%: 55%: 70%: 62%: 44%;: 46%: 45%)| 57%: 57%;: 62%: 59%: 43%: 61%: _67%
NET Pessimistic (1-2) 104 9 23 14 20 23 15 63 41 18 19 5 37 5 12 6 22 29 6 35 5 5 2
12% 7%; 16%: 10%: 14%;:  16% 9%)| 13%: 11%]| 12%: 11%: 11%: 13% 7%; 13%;: 15%| 11%;: 13%: 13%: 12% 6%: 12%: 10%
Mean score 3.6 3.7 3.6 3.5 3.6 3.4 3.6 3.6 3.6 3.6 3.6 3.8 3.7 3.5 3.3 3.3 3.6 3.6 3.6 3.6 3.5 3.6 3.6
Q11b. Do you think it would | Base: Selected a 886 139 147 139 142 144 176 501 385 152 181 44 298 75 91 38 204 214 45 283 76 40 20
be a good idea or a bad idea |city at Q10 (885)| (123)i (135)i (141): (168): (142)! (176)| (496)i (389)| (145): (167): (36): (319)i (73)i (93): (41) (192): (188)i (32)i (317): (75):  (40):  (20)
for [City chosen at Q10] to  |Good idea 325 69 53 50 57 52 43 192 133 50 88 18 101 18 30 19 65 99 17 99 20 17 7
...... have an elected mayor, 37%) .. .50%: 36%: 36%: 40%: 36%: 25%)| 38% 5%)|. ..33%: 48%: 41%; 34%:  24%:  33%: 49%)|  32%;  46%: 38%: 35%:  26% 2%;:  33%
the way London and some Bad idea 286 33 57 58 30 39 68 172 114 59 48 17 113 22 21 4] 77 55 19 102 22 8 3
other English cities now have? 32%)| 23%; 39%: 42%:  21%: 27% 39%)| 34% 0%)| 39%: 26%: 39%: 38%;: 30%: 23%: 11% 8%: 26%: 42%: 36%: 28%: 20%: 13%
Don't know 276 37 37 30 54 53 65 138 138 43 46 8 84/ 35 41 15 62 60 9 82 34 15 11
31%)| 27% 25%: 22%; 38%: 37% 37%| 28% 36%)| 28%;: 25%: 19%: 28%: 47% 45%: 40%| 30% 28%: 21% 29%: 45%: 37%: 54%
Q11b. Do you think it would | Base: Selected a 886 139 147 139 142 144 176 501 385 152 181 44 298 75 91 38 204 214 45 283 76 40 20
be a good idea or a bad idea |city at Q10 (885)| (123)i (135); (141): (168): (142): (176)| (496): (389)| (145): (167). (36): (319): (73)i (93): (41) (192): (188): (32)i (317): (75).  (40):  (20)
for [City chosen at Q10] to Good idea 433 71 80 75 51 74 82 257 176 71 104 22 159 28 38 9 87 116 14 158 29 14 12
...... ban cars from the city 49%)  51%; 54%: 54%:  36%; 52%: A46%)| 51%;: 46%)| 46%: 57%; 50%: 53%: 38%;: 41%:  24%| 43%: 54%: 32%: 56%: 38%: 36%: 59%
centre, allowing only Bad idea 325 47 52 54 60 52 60 183 142 59 63 18 96 32 34 19 88 73 23 93 28 14 4
pedestrians 37%)| 34%: 35%: 39%: 42%: 37%: 34%| 37%: 37%)| 39%: 35%: 42%: 32%: 42%: 37%: 50%)| 43%: 34%: 52%: 33%: 37%: 35%: 22%
Don't know 129 21 15 10 31 17 35 61 67 23 14 4 43 15 19 10 29 25 7 33 20 11 4]
15%)| 15%; 10% 7%; 22%; 12% 20%| 12%: 17%)| 15% 8% 9%;:  14%: 20%: 21%: 26%| 14%: 12%: 16%: 12%: 26%;: 29%: 19%
Q11b. Do you think it would | Base: Selected a 886 139 147 139 142 144 176 501 385 152 181 44 298 75 91 38 204 214 45 283 76 40 20
be a good idea or a bad idea |city at Q10 (885)| (123): (135): (141) (168): (142)i (176)| (496): (389)| (145): (167)i (36)i (319): (73):  (93)i _(41)| (192)i (188): (32): (317). _ (75)i _ (40)i  (20)
for [City chosen at Q10] to Good idea 538 68 99 109 54 85 124 311 227 117 116 31 167 35 52 19 156 130 27 157 35 22 8
...... ban begging in the street 61%)| 49%: ~67%:  78%; 38%: 59%:  70%| 62%: 59%)| 77%;:  64%:  70%:  56%: A47%:  57%;:  49%)| . 76%:  61%:  60% 6%; . 46%: 55%: 42%
Bad idea 194 41 30 20 50 31 22 115 79 15 42 4 76 19 24/ 9 19 53 11 77 17 11 5
22%)| 30%: 21%;: 14%: 35%: 21%; 12%)| 23%;: 20%)| 10%: 23%: 10%; 26%: 25%;: 27%;: 23% 9%;:  25%:  24% 7%;  22%;: 27%:  23%
Don't know 154 30 18 10 38 28 31 75 80 20 24/ 9 55 21 15 10 29 31 7 49 24! 7 7
17%| 22%: 12% 7%;: 27%;: 19%: 17%| 15%: 21%)| 13%; 13%: 20%: 18%: 28%: 16%: 28%| 14%: 14%: 15%: 17%: 32%;: 18%: 35%
Q15. Should the smacking of |Base: All 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
children be made illegal? respondents (1024)| (134); (156); (173). (184); (174); (203)| (569); (455) (173); (179); (50); (362); (85); (111). (49)| (231); (206); (44); (356): (87). (50); (24)
Yes 308 64 45 33 72 57 36 175 133 23 60 17 123 27 25 30 34 88 16 121 22 10 16
30% 2%; 27%:  19%:  47%;  32%: 18%)| 30%: 30%)| 13%:  31%;: 29%: 36%: 32% 3%:  65%)| 14%: 37%;: 26%: _ 38% 25% 9%:  65%
No 547 61 102 122 49 83 129 317 230 135 103 34 166 39 48 14 179 112 32 149 40 24 8
53% 0%: 61%: 71%: 32%: 47%: 64%| 55%: 52%)| 74%: 53%: 57%: 49%:  46% 15%:  31%)| 73%: 48%: 54%:  47% 6% 8%:  31%
Don't know 169 27 21 16 32 37 36 85 84 24 32 8 48 19 34 2 33 35 12 47 25 16 1
17% 8% 12%: 10%: 21%;: 21%;: 18%)| 15%: 19%)| 13%: 16%;: 14% 14%: 22% 2% 4%)| 14%: 15%: 20%: 15% 9% 2% 5%
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Base: 1,024 2014 Independence 2016 EU Referendum Country of Birth Do you live in (or within a few miles of) one of the following cities?
Referendum
Ivoted i Ivoted :Idid not| The UK { The UK i Did not |Scotland England All Aberdee i Dundee iEdinburg: Glasgow :Invernes: Perth Stirling i None of
Yes No vote should : should vote others n h s the
remain leave ahave
Total 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
Q11a. How do you feel about |Base: Selected a 362 438 86 499 289 99 740 74 72 91 84 204 387 31 40 50 ]
the future prospects of [City |city at Q10 (381): (417)i (87)| (501): (289): (95)| (706)i (115)i (64)| (91): (81): (204): (382)i (35)i (42):  (50) (0)
chosen at Q10] over the next |5 - Very optimistic 72 51 9 82 42 10 111 11 11 8 22 39 48 3 6 7 0
10-15 years? 20%;: 12%: 11%)| 16%;: 14%: 10%)| 15%: 15% 5% 9%:  26%: 19%: 12%: 11% 5%;: 14% (1]
4 - Fairly optimistic 139 204 29 199 136 38 311 27 34] 26 43 87 167 17 13 19 0
38%: 47%: 34%| 40%: 47%:  38% 2%;: 37% 7%)|  29% 0%:  43%: 43%: 54% 3% 8% (1]
3 - Neither optimistic 112 128 37 146 87 44 230 30 17 32 17 57 127 7 14 23 0
nor pessimistic 31%; . 29%;  43%)|  29%; 30%: 44%)| 31%: 41%: 23%)| 35%;: 20%: 28%: 33%:  22%: 35%: 46% 0
2 - Quite pessimistic 30 45 7 59 17 6 68 5 8 20 3 14 33 4 7 1 0
8%:  10% 9%)|  129% 6% 6% 9% 7%; 12%| 22% 3% 7% 9%:  13%: 18% 2% (1]
1 - Very pessimistic 9 11 3 14 7 2 20 1 2 4 0 7 11 0 0 0 0
2% 2% 4% 3% 2% 2% 3%  <1% 3% 5% 0 3% 3%:  <1% 0 (1] 0
NET Optimistic (4-5) 212 255 39 280 178 47 423 38 44 34 65 126 216 20 19 26 0
59%: 58%: A45%)| 56%: 62%: 48%)| 57%: 52%: 62%| 38%: 77%: 62%;: 56%: 65%: 47%: _52% (1]
NET Pessimistic (1-2) 38 55 11 73 24 8 88 5 11 25 3 20 44 4 7 1 0
11%;  13%:  13%)|  15% 8% 8%) .. .12% 7%);.. 15%) . 27% 3%: 10%;: 11%: 13%: 18% 2% (1]
Mean score 3.7 3.5 3.4 3.6 3.7 3.5 3.6 3.6 3.6 3.1 4.0 3.7 3.5 3.6 3.4 3.6
Q11b. Do you think it would | Base: Selected a 362 438 86 499 289 99 740 74 72 91 84 204 387 31 40 50 )
be a good idea or a bad idea |city at Q10 (381): (417)i (87)| (501): (289): (95)| (706): (115)i (64)| (91): (81): (204): (382)i (35)i (42):  (50) (0)
for [City chosen at Q10] to Good idea 140 155 29 194! 107 24 272 25 28 31 32 67 161 6 12 16 0
...... have an elected mayor, 39%;: 35%: 34%)|  39%: 37%: 24%)| 37%;: 34%: 38%)| 34%;: 38%: 33%: 42%: 19%: 30%:  32% (1]
the way London and some Bad idea 121 148 17 169 94 23 240 26 20 32 30 74 98 14 18 20 0
other English cities now have? 33%: 34%;: 20%| 34%: 32%: 23%)| 32%: 36%: 27%| 35%: 36%: 36%;: 25%: 46%: 46%: 39% (']
Don't know 101 135 40 135 88 52 228 22 25 28 23 62 128 11 10 14 0
28%: 31% 46%)| 27%; 31%: 53%| 31%: 30% 35%)| 31%; 27%: 31%: 33%: 34% 24%: 29% (1]
Q11b. Do you think it would [Base: Selected a 362 438 86 499 289 99 740 74 72 91 84 204 387 31 40 50 [
be a good idea or a bad idea |city at Q10 (381); (417):  (87)[ (501): (289): (95)| (706): (115): (64)[  (91): (81): (204); (382): (35): (42):  (50) (0)
for [City chosen at Q10] to  |Good idea 199 209 24 254 148 31 357 38 38 39 51 97 185 16 18 27 0
...... ban cars from the city 55%; 48%;: 28%| 51%;: 51%: 31%)| 48%;: 52%;: 53%)| 43%; 60%: 48%: 48%;: 53%;: 45%;: 55% 0
centre, allowing only Bad idea 109 173 42 178 106 41 274 26 25 39 24 81 139 10 21 12 0
pedestrians 30%: 40%: 49%)| 36%;: 37%: 42%| 37%: 35% 35%)| 43%;: 28%: 40% 6%: 33%: 51%: 24% 0
Don't know 53 56 19 67 35 27 110 10 9 13 10 26 63 5 1 10 0
15%: 13%: 23%)| 13%: 12% 27%| 15%: 13%; 12%| 14%  12%: 13% 16%: 15% 3%  21% (1]
Q11b. Do you think it would [Base: Selected a 362 438 86 499 289 99 740 74 72 91 84 204 387 31 40 50 [
be a good idea or a bad idea |city at Q10 (381)i (417):  (87)[ (501): (289): (95)| (706): (115) ~(64)[ _ (91)i (81)i (204); (382): (35)i (42):  (50) (0)
for [City chosen at Q10] to Good idea 206 293 39 267 225 45 454 41 42 58 58 131 221 14 24 32 0
...... ban begging in the street 57%;:  67%:  45%)| 54%;: 78%: 46%)| 61%: 56%: 58%)| 64%: 69%: 64%: 57% 4%:  59%:  64% 0
Bad idea 96 78 21 138 34 23 158 16 19 16 14 43 93 9 9 10 0
26%;: 18%: 24%| 28%: 120 23%)| 21%: 22%;: 27%| 18%: 17%: 21%; 24%;: 29%;: 21%:  20% (1]
Don't know 60 68 27 93 30 31 127 16 11 17 12 29 72 8 8 8 0
17%: 15%;: 31%)| 19%: 10%: 31%| 17%: 22%;: 15%| 18%: 14%: 14%: 19%: 27%;: 19%: 17% o
Q15. Should the smacking of |Base: All 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
children be made illegal? respondents (438); (490); (96)| (565); (354); (105)| (809)i (143); (72)| (91); (81); (204); (382); (35); (42); (50); (139)
Yes 160 116 32 202 74 32 252 26 30 26 22 70 121 13 10 13 32
38%;: 23%:  34%)| 36%; 21%: 29%)| 30%:  28% 7%)|....29%:  27%;:  34%;: 31%: 43%: 24%:  27% 3%
No 195 310 42 270 229 47 453 55 39 45 52 100 201 13 23 29 84|
47%;  60%: 44%)| 48%: 65%: 43%| 53%:  60% 8%)| 50%: 62%: 49%: 52%: 41%:  56%:  57% 1%
Don't know 60 87 22 91 48 30 145 11 13 19 10 33 65 5 8 8 22
14%: 17%;: 23%)| 16%: 14%: 28%| 17%: 12% 6%)| 21%: 129%: 16%: 17%; 16%: 20%: 16% 6%
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Base: 1,024 Total GenderXAge SEG 2016 Holyrood Constituency Vote 2017 Westminster Vote
Male x ; Male x ;| Male x ; Female | Female ; Female [ ABC1 C2DE | Conserv: Labour : Liberal SNP Did not : Can't Iwas |Conserv: Labour : Liberal SNP Did not ; Can't I was
16-34 | 35-54 55+ x 16-34 i x 35-54: x 55 ative Democr vote irememb not ative Democr vote irememb not
at or slinihla at ar slinihla
Total 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
Q16. Would you support or Base: All 1024 152 168 171 154 177 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
oppose standardised national |respondents (1024)| (134); (156); (173). (184). (174) (569) (455)| (173); (179) (50); (362) (85); (111) (49)| (231)i (206) (44); (356) (87) (50) (24)
tests on literacy and
numeracy skills for all primary |Support 388 64 55 59 66 221 166 64 64 19 164 28 29 19 86 75 21 154 30 12 8
one school pupils? 38% 38%.  32%  38%  37% 38%: 37%)| 35%;: 33% 32% 48%: 33%  27% _ 41%)| 35% 32% 35%: 48% _ 34% _ 25%:  34%
Oppose 416 61 85 49 82 253 163 85 92 32 111 30 40 18 116 115 28 99 27 18 11
41% 37% 50% 32% 47% 44% 37% 47% 47% 54% 33% 35% 37% 39% 47% 49% 47% 31% 31% 37% 45%
Don’t know 220 43 31 46 29 103 117 32 39 8 63 28 39 9 45 45 11 65 30 18 5
22% 23% 25% 18% 30% 16% 18% 26% 18% 20% 14% 19% 32% 36% 20% 18% 19% 18% 20% 35% 38% 21%
Q17. Should people be Base: All 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
allowed to officially change the|respondents (1024)| (134): (156): (173): (184): (174): (203)| (569): (455) (173): (179) (50): (362) (85): (111) (49)| (231): (206) (44): (356) (87) (50) (24)
gender on their birth
certificate? Yes, if aged 12 or 60 20 7 4 13 7 8 34 26 5 14 7 27 1 3 3 5 17 26 4 2 1
over 6% 13% 4% 2% 9% 4% 4% 6% 6% 3% 7% 12% 8% 1% 3% 5% 2% 7% 10% 8% 4% 4% 4%
Yes, if aged 16 or 164 29 28 21 41 23 22 101 63 9 26 12 75 21 11 8 12 33 12 75 18 7 7
over 16% 19% 17% 12% 26% 13% 11% 18% 14% 5% 13% 19% 22% 25% 11% 17% 5% 14% 20% 24% 21% 3% 27%
Yes, if aged 18 or 392 a7 55 60 58 84 88 213 179 67 77 24 126 30 46 17 95 93 22 114 33 24 9
over 38% 31% 33% 35% 38% 47%. 44% 37% 40% 37% 40% 41% 37% 35% 43% 36% 38% 40% 38% 36% 38% 50% 36%
No, should not be 408 55 78 87 42 63 83 229 179 102 77 17 110 34 a7 20 135 91 19 103 33 16 8
allowed at any age 40% 36% 46% 51% 27% 36% 41% 40% 40% 56% 40% 28% 33% 39% 44% 42% 55% 39% 32% 32% 37% 33% 33%
Q18. Should teachers be Base: All 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
required to tell parents if their [respondents (1024)| (134); (156); (173)! (184)! (174); (203)| (569); (455)| (173)! (179); (50)i (362)i (85) (111); (49)| (231); (206); (44) (356): (87). (50)i (24)
child changes gender in
school? Yes 706 88 114 128 93 135 149 390 316 il 124 41 228 56 68 30 203 149 33 213 55 33 18
69% 58% 68% 75% 60% 76% 74% 68% 71% 84% 64% 68% 68% 65% 63% 65% 82% 64% 56% 67% 61% 68% 73%
No 129 29 23 15 30 23 10 74 55 11 32 8 45 12 10 9 20 37 9 41 14 4 3
13% 19% 13% 9% 19% 13% 5% 13% 12% 6% 16% 3% 13% 14% 9% 19% 8% 6% 5% 13% 16% 7% 13%
Don’t know 189 35 32 28 31 20 44 113 76 18 39 11 64 18 29 7 24 48 17 63 21 12 3
18% 23% 19% 16% 20% 11% 22% 20% 17% 10% 20% 19% 19% 21% 27% 16% 10% 0% 9% 20% 24% 25% 14%
Q19. Should parents be Base: All 1024 152 168 171 154 177 202 577 447 182 194 60 338 86 107 46 247 234 59 318 87 49 25
informed about whether their |respondents (1024)| (134)i (156); (173). (184); (174)i (203)| (569)i (455)| (173); (179) (50); (362) (85); (111) (49)| (231)i (206) (44); (356) (87) (50) (24)
children are sharing rooms
with transgender pupils on Yes 587 75 98 118 68 100 128 337 250 138 107 31 187 39 60 22 188 120 29 171 36 30 10
overnight school trips? 57% 50% 58% 69% 44% 56% 64% 58% 56% 76% 55% 53% 55% 45% 56% 48% 76% 51% 50% 54% 41% 61% 40%
No 256 49 41 30 62 45 29 143 113 29 49 16 94 26 21 15 35 69 17 85 29 10 9
25%| 320 25%: 18%  40%  26% 4%)| 25%: 25%)| 16%; 25% 27%; 28%: 31%  20%  33%)| 14% 0%:  29%: 27%: 33%: 20% _ 36%
Don’t know 181 28 29 23 25 32 44 97 84 15 38 12 57 21 26 9 24 45 12 62 23 9 6
18% 18% 17% 14% 16% 18% 2% 17% 19% 8% 20% 21% 17% 24% 24% 19% 10% 19% 21% 19% 26% 18% 24%
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Base: 1,024 2014 Independence 2016 EU Referendum Country of Birth Do you live in (or within a few miles of) one of the following cities?
Referendum
I voted : I voted :Idid not| The UK i The UK i Did not [Scotland: England All Aberdee i Dundee iEdinburg: Glasgow :Invernes: Perth Stirling i None of
Yes No vote should § should vote others n h s the
remain | leave ahova
Total 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40
Q16. Would you support or Base: All 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40
oppose standardised national |respondents (438); (490); (96)| (565); (354); (105)| (809)i (143)i (72)| (91); (81); (204); (382)i (35)i (42)
tests on literacy and
numeracy skills for all primary |Support 187 159 41 222 124 41 314 39 35 72 149 8 18
one school pupils? 45% 31% 43% 39% 37% 42% 42% 36% 39% 26% 44%
Oppose 142 250 24 228 345 37 34 87 143 12 17
34% 49% 24% 40% 41% 41% 41% 31% 50% 43% 37% 37% 41%
Don’t know 86 104 31 113 191 16 14| 21 9 45 94 11 6
21% 20% 32% 20% 21% 32% 22% 17% 16% 23% 11% 22% 24% 37% 15%
Q17. Should people be Base: All 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
allowed to officially change the|respondents (438): (490) (96)| (565): (354): (105)( (809): (143) (72) (91) (81): (204): (382) (35) (42) (50); (139)
gender on their birth
certificate? Yes, if aged 12 or 44 14 1 41 14 5 50 5 5 2 4 14 25 3 1 6 4
over 11% 3% 1% 7% 4% 5% 6% 6% 6% 3% 5% 7% 6% 10% 3% 12% 3%
Yes, if aged 16 or 82 64 18 119 25 20 135 12 18 22 14 28 59 3 9 6 22
over 20% 12% 19% 21% 7% 19% 16% 13% 21% 24% 17% 14% 15% 11% 23% 13% 16%
Yes, if aged 18 or 149 213 30 239 114 39 338 30 23 31 38 85 149 16 11 19 45
over 36% 42% 31% 42% 32% 36% 40% 33% 28% 34% 45% 42% 38% 50% 26% 38% 32%
No, should not be 140 222 a7 164 199 45 327 44 37 36 28 76 154 9 19 19 68
allowed at any age 34% 43% 48% 29% 57% 41% 38% 48% 45% 39% 33% 37% 40% 29% 48% 38% 49%
Q18. Should teachers be Base: All 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
required to tell parents if their [respondents (438); (490); (96)| (565)! (354); (105)| (809)i (143); (72)| (91)i (81): (204); (382)i (35)i (42)] (50)i (139)
child changes gender in
school? Yes 276 371 60 359 274 73 578 68 61 59 59 136 268 26 24 35 99
66% 72% 62% 64% 78% 67% 68% 74% 74% 65% 70% 67% 69% 82% 60% 70% 72%
No 58 55 16 85 31 12 108 10 10 18 12 24 48 1 4 7 14|
14% 11% 17% 15% 9% 11% 13% 11% 13% 20% 14% 12% 12% 4% 11% 15% 10%
Don’t know 82 87 20 119 46 24 164 14 11 14 13 43 71 4 12 7 25
20% 17% 21% 21% 13% 22% 19% 15% 13% 15% 16% 21% 18% 14% 29% 15% 18%
Q19. Should parents be Base: All 415 513 96 563 351 110 850 92 82 91 84 204 387 31 40 50 138
informed about whether their [respondents (438); (490) (96)| (565)i (354) (105)| (809): (143) (72) (91) (81); (204): (382) (35) (42) (50); (139)
children are sharing rooms
with transgender pupils on Yes 230 312 45 291 245 51 492 50 46 49 52 105 227 14 21 31 89
overnight school trips? 55% 61% 47%. 52% 70% 47% 58% 54% 56% 54% 61% 52% 59% 45% 53% 62% 64%
No 116 110 30 166 58 33 206 25 26 19 19 69 94 11 9 14 20
28% 21% 31% 29% 16% 30% 24% 27% 31% 21% 23% 34% 24% 34% 23% 29% 15%
Don't know 68 92 21 107 49 26 152 17 11 23 13 30 66 6 10 5 29
16% 18% 22% 19% 14% 23% 18% 19% 13% 25% 16% 15% 17% 21% 24% 9% 21%




